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Dezimalzahlen - Einstieg: 2 von 3

Lésungen
DEZIMALZAHLEN - EINSTIEG LEVEL 2
37 = 3E 7z 298 = 2E 9z 8h 6,389 = 6E 3z 8h 9t
0,5 = 5z 301 = 3E 1h 30,105 = 3Z 1z 5t
8E 9z = 8,9 7Z 8z 6h = 70,86 8Z 6E 9h = 86,09 8h 9t = 0,089
9E 1z = 9,1 3E 2h = 3,02 3H 2E 8z = 3028 9z 3t = 0,903
96 a9 5 3
03 = — 0,96 = — 0,089 = —— 1,005 = 1 10,3 = 10—
10 100 1000 1000 10
Trage folgende Zuhlen4ctuf deng'i Zuhlen;'rr'ahl ein: 2004 = 20 %
2,3 1,6 0,8 o 1ﬁ 2E 505
2,806 = 2 1000
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4 ' 8 7 2,52 = 2—
0 = 0,8 1 1,6 1~ 2 23 2 L 3 )5 2 100
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